


‘@ £ZH|$MI (HSP Series)

01

TEHliHI A 174
02

I NES 177
03

g5

HSP50-0.75 0.2 m/min 10m 178
HSP50-1.5 0.35 m/min 15m 178
HSP80-2.2 0.36 mi/min  20m 179
HSP80-3.7 0.50 m/min  25m 179
HSP80-5.5 0.50 mi/min  30m 180

HSP100-7.5 0.92 m/min 30m 180

173



| EERE:
1
2
3
O MAIE @EZ ZH|

VY
AL
_'_O'_

Ix-l
S|

o BjEHI - XPHET E|X] Qb= CE7FE e B

HSP 50 - 0.75 - 3 (C)

OfIIE, Ut Zful4 Mol X AtS T, _E
X[t BES 8, 7| A1 A/ AH| Hi+8, QEFET (8M)
A ASES Exa o121 7y
© YD - 24 S0 B8, S2{X| Hi4-E, 3134380V
2 -HaH2E, ST, AMAKMZ|E FA L HIEH (kW)
E£74 (mm)
g4
| RERG

* A |AI2E 1 0~40°C

£2KQ H(H EX3A =2t

-lmn W | i
HSP50-0.75-3 30X 380 0.75 1 0.20 22
HSP50-1.5-3 3@ X380 15 2 21 0.35 15 18 50 29
HSP80-2.2-3 3@ X380 22 3 2 0.36 20 24 80 33
HSP80-3.7-3 30X380 37 5 30 0.50 25 34 80 42
HSP80-5.5-3 30 X380 5.5 75 30 0.50 30 32 80 65
HSP100-7.5-3 30 X380 75 10 55 0.92 30 36 100 74

174



| EERE

1 AEHA O] Y (Upper casing) GC200

2 AEH|0{2 (Upper Bearing) SAE 52100

3 HIO ZA (Pump Body) GC200

4 HE (Motor) Dry submersible motor

5 AFEZE (Motor Shaft) STS304

6 SHEH|0{Z (Lower Bearing) SAE 52100

7 HiZtL|Z & (Mechanical Seal) Hot graphite, carbide silcon, carbide tungsten
8 2] (Impeller) GC200

9 ZAH0[A (Suction casing) GC200
10 Z3X| L& (Flange Elbow) GC200

| EERE

i | e Aol

G
ey [ o= | ax | ax |wwsid) ol

H
HSP50-0.75-3 2081738  62032RS  6204-2RS 1 4 6 ?E
HSP50-1.5-3 20820/38  62042RS  62052RS 1 4 6
HSP80-2.2-3 Double  70870/40  62042RS  6205-2RS 15 4 6
HSP80-3.7-3 End 2082040 62042RS  62052RS 15 4 6
HSP80-5.5-3 20830/51  62052RS  62082RS 4 4 6
HSP100-7.5-3 20830-51  62052RS  6208-2RS 4 4 6

175



@

TSI 200

7|2 - £23X| &= (Flange Elbow) | 24 - 2E7Z2(Auto Coupling)

J 2x7z-71= J 2x 7z - 24
—— 000007 f]ﬁ
.".'l'.'_'.'l'.'_'.'_'.'".-_'.' _4

176



‘& HSP

| EERES

9 .o

.
e

g‘t ESPNET #g
(Lowest water) )
A2 |
|
]
S/ D1
S e R (R L L D2
Al
El E2 E3
E4
Ho x|
T
ARy
F2 — 16162
F1l | | / 2| 3
K
Y
11
o \i H2

m---------m

HSP50-0.75-3 0.75 1 1425 184

HSP 50-1.5-3 15 2 105 485 440 240 1425 194 120 143 170 433
HSP 80-2.2-3 2.2 3 108 655 370 240 185 2295 120 130 2235 4735
HSP 80-3.7-3 3.7 5 138 560 400 240 185 2595 120 130 2235 4735
HSP 80-5.5-3 55 75 120 630 470 260 185 2415 130 170 2235 5235

HSP 100-7.5-3 7.5 10 120 670 490 260 2315 2685 130 175 230 589

o ZaX|(mm) ZaiX|2E (mm)

--

HSP50-0.75-3 53.5 105.5 4-@12 4-@19 KS50A/10K

HSP 50-1.5-3 535 107 52 1055 55 110 4-@12 52 120 154  4-@19 KS50A/10K
HSP 80-2.2-3 63.5 127 80 1245 63 126  4-912 80 150 187  4-@19 KS80A/10K
HSP 80-3.7-3 63.5 127 80 1245 63 126  4-@¢12 80 150 187  4-@19 KS80A/10K
HSP 80-5.5-3 635 127 80 1245 63 126 4-912 80 150 187  4-@19 KS80A/10K
HSP 100-7.5-3 83 166 102 163 83 166 4-@14 102 175 210 4-@19 KS100A/10K

177



‘& HSP50

| HsP 50-0.75-3

3500rpm/60Hz

10 12

0.17

0.20

T
____—Fta

20

{8 Q(ni/h)

J HsP50-1.5-3

2™ H(m)

0.33

3500rpm/60Hz

20

18

16

14

12

10

5

0
0

20 21

25 | Q(ni/h)

0 0.

=8 E(%)

0.33 0.35

el

0.42 | (m/min)

60

50

_——Eta—

40

30

20

10

0

25 | Q(ni/h)

0 5
0 0

178

o

042 | (m/min)



‘& HSP80

HSP 80-2.2-3

02

F H(m) 3500rpm/60Hz
30

25

20

15

10

1]
ool

Q(ni/h)

(m/min)

4o
i

10 15 20215 25 30 35 40

8 0.17 0.25 0.33 0.36 0.42 0.50 0.58 0.67 7

o |

50 _—Eta

10 15 20 25 30 35 40 K Q(m/h)

L

8 0.17 0.25 0.33 0.42 0.50 0.58 0.67 22 (m/min)

| HsP 80-3.7-3

2H H(m) 3500rpm/60Hz
35

30

25

20

15

10

10 15 20 25 30 35 40 45 £ Q(m/h)

8 0.17 0.25 0.33 0.42 0.50 0.58 0.67 0.75 22 (m/min)

10 15 20 25 30 35 40 45 £ Q(m/h)

o

8 0.17 0.25 0.33 0.42 0.50 0.58 0.67 0.75 {2 (m/min)

179



‘& HSP80/100

| HsP 80-5.5-3

2 H(m) 3500rpm/60Hz

nu
ol

Q(ni/h)

(m/min)

4o
0

0 10 20 30 40 50 60 70

oM |

0 0.17 0.33 0.50 0.67 0.83 1.00 117 &7

Eta—

10 20 30 40 50 60 70 |2 Q(m/h)

o+ O
LU

0.17 0.33 0.50 0.67 0.83 1.00 117 |2k (m/min)

| HsP 100-7.5-3

02
0zt
T

(m) 3500rpm/60Hz
45

40
35
30
25
20
15
10

o

Q(ni/h)

2k (ni/min)

30

0 10 20 30 40 50 55 60 70 80

0 0.17 0.33 0.50 0.67 0.83 0.92 1.00 1.17 1.50

=8 E(%)

J0

60 _——Eta

10 20 30 40 50 60 70 80 {2 Q(ni/h)

o T+ O

0.17 0.33 0.50 0.67 0.83 1.00 1.17 1.50 7

on

(m/min)

180



181



